EAGRAROBREERT — 2 N— ABISH —F

202068250 (K) 7EIEMH2H

KM C3= H5%4m L ESRE Iy
[AE4£] 1% :350,000 "  23%&:98,000H”  33&:49,000  437:3500HM . 57&:28,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
) 5 | BHE= 1:34.1 6-6-3-3 |40.5| — 9 475 | ERE (EH)
11810 O—XX T v— e 54.0 (=) (+5) (%) K>x
RiFATATv— B:vav/h—3 SRV Y 3 uREH
N Hh% : —1-1- = i
N AEY ws | BT g [ e - e e
L:A—-LIFLSIA B:5147/4 Uk b Ei=13 I G
. HERME : 00— — NEEE (FER)
318l g A7 4 N — 4 4 o ES (12.314/.263 2-2-2-2 | 41.5 3 :?52)) %Kéﬂz
R T—= VXTI T—h BIILTAIFT 1k 2 Kt
o o — S AEE : —~7-7- — EmfiE (FEH)
o 11| 7ok Kk N e C I R -
R:#I/>vwT1 BRIy IETRIT AR
5 J|RAPLTHYE o4 #_Jz_)ébk 1:(335).1 4-4-4-4 | M.T| — 10 | 465 ;;g% (Em)
Ry KRN—4 B:TYRH ) |z g
N 9 FHEET :35. —5-5— . - FEZ (FkR)
. 6l ¥ mx— £ 4 EiEs (11315/23) 5-5-5-6 | 41.9 5 (4_3; RN
v IRy b B:yO—-FI [QLR<0F e ]

5 SN t 4 | NERF 1:35.4 10-9-9-9 |40.8| — 8 468 | ABE= (AM)
715|5|~T LA T/INT b x (1/2) (-3) $H) F— YN MEES
R:T—0T74—Z B:HLIvq> "HET7—L
© TR :36. —3-6- X = FiEkE (EH)

gl7lg|very=un H o4 L (13316/20) 3-3-6-7 | 42.6 4 <5+o16) m;ﬂ;
L:Nn-E>Tv— BYIYHAYE—Fy K 7975774
N RO EBERTR :36. —-8-8- . — IOyE=E (P
9 2 19277 — o4 i‘\?53.0ﬁ (11316/42) 888 1420 6 (4_522) EHES
LixA1=ZTr—R B:vA 2/ T B Bz
S 5 ft 5 | Ati—R 1:36.2 9-10-10-10 | 41.4 | — 7 444 | BREX (FEH)
1007|7|*1T>¥avdrIR 54.0 F2%) +3) (B ) P N
LixA42anf—5— BINX/THT T BAlE
® 1 —F—@EBIERL
1T=7r= 4,9,8,3,6,10,1,2,7,5
2a=5F= 4,9,8,3,6,10,1,2,5,7
Ja=9= 4,9,10,3,6,8,1,2,5,7
43—+ — 4,9,10,3,1,6,8,2,5,7
[ N5
B 10 6,180 714K 4-10 1,870 e E 4-8 470 JEE 4-9-10 7,340
B B 10 550/ 9-10 1,780H B = 4-10 4,830 3EE 10-4-9 108,830H
4 120M 4-9 330M B H 10-4 15,430M
9 1509

ARICOVWTRDTEEERROODE. TR LI,




